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3 is in the ten thousands’ place, so the place value of 3 = 30000.

Exercise 2(0}

1. Write the place value of the coloured digits.
Number Place Value Number Place Value
(a) 47878 Hooo o (b) 28743 v /5.0
(c) 58781 2000 (@) 60847 800
(e) 78918 10000 ) 82040 -y
(g) 60942 00000 (h) 91919 Q000
2. (a) Write the place value of digit 5 in the following numbers.
(i) 58418 (W) 68715 (W) 71581 (iv) 65402 (v) 21650
S 0000 C- T L.t C
(b) Write the place value of digit 9 in the following numbers.
(1) 49718 (W) 63032 (i) 39415 (iv) 92166 (v) 84917
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(c) Write the place value of digit 7 in the following numbers.
(i) 718 () 78214 (w) 67118 (iv) 24017 (v) 38478
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